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e 1 < N,M <200000
e 1<M<N(N-1)/2
e 1<z,y< N
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6_Good Morning YTP

(25 points)
(Subtask 1: 9 points, Subtask 2: 16 points)

Description

Good morning YTP

Now | have a Treap

| really like this Treap

But

Link-Cut-Tree

Compare to Treap

Link-Cut

Link-Cut-Tree

| like the most

So...it's time to code data structure

Getready 123

After two weeks

Link-Cut-Tree x3

Do not forget this

Do not miss this

Remember to participate YTP to code Link-Cut-Tree
Because it's a very good data structure

Its operations are very good

Almost the same as Treap

Goodbye

After reading the description above, you should already know what's the problem's content.
Not worry if you don't. Please read the description below.
There's a graph with IV vertices.

Initially, there's 0 edge in the graph.

Now you have to add M edges into the graph one by one.

39 /45



Young Turing Program - YTP2022PreliminaryContest_S1

After adding each edge, you should output the number of bridges in the graph.

(There's no duplicate edges or self-loop)

In graph theory, a bridge is an edge of a graph whose deletion increases the graph's number of
connected components.

Take this graph as example, (1, 4) is a bridge since after deleting this edge, the number of connected
components in this graph have increased.

Input Format

First line contains two integers IN, M, denote the number of vertices and the number of edges to be added
respectively.

For the next M lines, each contains two integers x, y, denote the two endpoints of the edge to be added.
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Output Format

Print M lines, the ¢th line contains one integer x, denote the number of bridges in the graph after first 2
edges are added to the graph.

Constraints

e 1< N,M < 200000
e 1<M<N(N-1)/2
o 1<z,y<N

For subtask 1 (9 points), it is guaranteed that the first N — 1 edges would be in the form of (4,4 + 1).
(though its order may not be sorted)

Input Example 1
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Output Example 1

Input Example 2
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Input Example 3
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Example Explanation

In Input Example 1, after adding the third edge, every edge is on a cycle, therefore there's no bridge.
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In Input Example 2, there's no cycle at any time, so every edge is a bridge.

44 | 45



Young Turing Program - YTP2022PreliminaryContest_S1

The graph of Input Example 3:
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